F‘ 12 GA COMMERCIAL

14 GA 125" X 125° X 1 TOP FIXTURE ATTACHED W/°

PUNCHED ANGLE ATTACHED TO (4) 174" x 3/4" HEX HEAD

ADJUSTABLE SLIDE ON TOP 24 GA SKIN SCREWS ADJUSTABLE SLIDE 14GA. CENTER HINGE

FIXTURE WITH 1) 5/16° X 3/4* BRACKET ATTACHED ATt e« 3/ar

R o T WrBy 5/18% % 304° BOLT 3% 20GA. STRUTS ATTACHED o A R
12 GA. GALV, COMMERCIAL ADJUSTABLE SLIDE ATTACHED AND NUTS W/ @ 1/4 x 3/4

HEX HEAD SCREWS AT

TOP ROLLER BRACKET EACH CENTER STILE

ATTACHED W/(4> 1/4" x
3/4° HEX HEAD SCREWS
PER BRACKET

WITH <2) 5/16” X 3/4* BOLTS
AND NUTS

TOP SECTION: 3 5/8°H X 22 GA,
GALV. STEEL R-TRUSS

STACKED ON BOTTOM DF TOP FIXTURE
ATTACHED W/ (3) 1/4° x 3/4°

HEX HEAD SCREWS AT EACH END
STILE AND W/ (@) 1/4* x 3/4’
I;]E‘;(LE{EAD SCREWS AT EACH CENTER

3 5/87 22GA. R-TRUSS
ATTACHED W/ (@ 1/4" x 3/4*
HEX HEAD SCREWS AT EACH
CENTER STILE

LARGE MISSLE
IMPACT RESISTANT

1> 3 5/8" X 22 GA R TRUSS
ATTACHED W/ (3> 174° X 3/4%
HEX HEAD SCREWS PER STILE

2’ 10 BALL STEEL 9° STEM H/T
HURRICANE ROLLER W/ 7/16*
RETAINER FOR NON-THREADED

SHAFTS
TYPICAL TOP FIXTURES 3 5/8°H X 22 GA. GALV. STEEL TYPICAL CENTER HINGE 8
NTS 1 R-TRUSS ON INTERMEDIATE NTS.
: SECTIONS ATTACHED W/ (@ 1/4°
x 3/4° HEX HEAD SCREWS AT .
EACH END STILE AND (2) A e
e AT EACH CENTER STILE 174 x 3/4° HEX
32° MAX. SECTION HEIGHT EaD Soreus AT\
END STILES
A
I 3 3’ 20GA. STRUT ON BOTTOM OF 14GA. ADJUSTABLE ROLLER {f, G{%,ESIL.HE(N%E,,"’.‘TTACHED
e ] EACH INTERMEDIATE AND TOP CARRIER ATTACHED TO HEX HEAD SCREWS
- SECTION ATTACHED W/ (2) 1/4° x R-TRUSS
1 3/4* HEX HEAD SCREWS AT EACH W/ 4 1/4* x 3/4°
: ; ; END AND CENTER STILE HEX HEAD SCREWS

2 10 BALL STEEL 9° STEM H/T|
HURRICANE ROLLER W/ 7/16*
RETAINER FOR NON-THREADED
SHAFTS

14GA. ADJUSTABLE ROLLER
CARRIER ATTACHED TO R-TRUSS
W/ (4) 174" x 3/4° 3 5/8° 22GA. R-TRUSS

EMBOSSMENTS NOT. HEX HEAD SCREWS ATTACHED W/ (@) 1/4" x

SHOWN FOR CLARITY 3 ; c H 3/4* HEX HEAD SCREWS AT
A X 3 . 3 5/8H X 22 GA. GALV. STEEL EACH END STILE
; SECTION ATTACHED. Wy 23 1/4° >
X
i 3/4* HEX HEAD SCREWS AT EACH BOTTOM BRACKET TYPICAL END HINGE 3
AT EACH CENTER STILE NS 145X By
T 4 HEX HEAD SCREWS
: : 2 3 5/8° 22GA R-TRUSS . .
7 ATTACHED W/ <35 174% ¢ 3/4° 2’ 10 BALL STEEL o REV | DESCRIPTION OF REVISIONS DATE  [BY
. HEX HEAD SCREWS AT EACH ROLLER W/ 77160
; CENTER STILE RETAINER FOR
SEE_TABLE 2 b A NON~THREADED SHAFTS
PAGE 3 BOTTOM BRACKET MAX SIZE | —= s
9'-0° MAX ! ATTACHED . TYPICAL BOTTOM BRACKET, 9 x 14 g AR S S
W/ (4) 1747 x 3/4 NTS 4 23 OF T2 W 9
INSIDE ELEVATION HEX HEAD SCREWS ol %E "-.\ :‘...-u.-..grty \‘ s
NTS. DESIGN LosDy £% £ e Heh s
+544 PSF | EE  Sx & el T
~620 PSF | Bx 22X i e ererssmeitind, 2
WOOD BLOCK BEHIND EACH END STILE (2 PER SECTION SECTION A—A (SIDE VIEW) i 7 1A L i 49
1-1/2* X 2-5/8" X 31-1/2* (32* SECTIONS) N.T.S SRS AR ANt tiiet+ v ¢ o g
1-1/2* X 2-5/8° X 27-1/2° (28° SECTIONS) ‘ 1.3 TEST LOADS | 5¢ /% 85829407 £
@ +816 PSF | £2 o™ SreEs oz
20 GA. CENTER STILES -93.0 PSF | 52 4700 Lcpnse®. 5
20 GA. GALV. AR THE TOP_AND BOTTON RALL o ' i N -
STEEL END STILE AND ADHESIVE TO INTERIOR FACE (NO. 2 OR BETTER) 8 S \\\ SIONA\.E‘\."‘ =
D 5/16° x 1 5/8° LARI(t;AEP X(l:STSlLE E€ W™ 3
LAG SCREW PER £5 o
JAMB_ BRACKET : resisTance | T3 TX 2
b, 1420 27 10 BALL STEEL 9 STEM H/T
*SPLICE BOLT HURRICANE ROLLER W/ 7/16° THE METHOD OF TESTING WAS IN SUBSTANTIAL CONFORMANCE ari
Jgug leciﬁ SHAFTS WITH THE PROCEDURE DESCRIBED IN TAS 201, 202, and 203,
ASTM E330, E1886, E1996, F588, AND ANSI/DASMA 108, 115.
INTERMEDIATE A R LR RUSS THE PRESSURES SHOWN ON THE DRAWINGS WERE CALCULATED MODEL #500
2 GALV. STEEL TRACK  HINGES 14GA (MIN.) V/ &) 1740 x 34 USING ASCE 7-16 WITH THE FOLLOWING PARAMETERS (5 FEET 0
3 5/8° X 22 Ga R-TRuss MEX HEAD SCREWS OF DOOR WIDTH IN THE END ZONE, ROOF AT ANY SLOPE): CLASSICA 1000, 2000
TRACK MOUNTING DETAIL WIND SPEED (MPH) 237 215 204 195 187 SE| DRAWBY  DRC| DATE 1/18/21 DRAWNG NUWBER
N.T.S. EXPOSURE LEVEL B C C D D
' ; ; ; ; ; CHECKED BY DLJ | DATE 1/21/21 IRC-5309-185-21-1
MEAN ROOF HEIGHT 30 15 25 15 25 B il
AMARR COMPANY SHEET 1 OF 3
165 CARRIAGE COURT VINSTON-SALEM, NC. 27105




S
(SPL

13 GA. FLAG BRACKET ATTACHED TO wOOD
JAMB
W/ (3> 5/16 DIA. X 1-5/8" LAG BOLTS AND TO

TRACK W/ (4> 1/4"-20 x p/8 TRACK SPLICE
BOLTS AND NUTS

a
© 00000000

\\

SPLICE TRACKS AT THIS LOCATION
——Jl«——W/ (4) 1/4"-20 TRACK SPLICE BOLTS & NUTS

ICED

THROUGH

[ “SECURE TO JAMB WITH (3) 5/16" DIA. x 1-5/8"
LAG BOLTS. (1) AT SPLICE LOCATION AND
(2) IN UPPER PORTION OF FLAG BRACKET

(1) 5/16" DIA. x 1-5/8"
LAG BOLT ATTACHED TO JAMB
AT EA. JAMB BRACKET

12 GA. GALV. STEEL

JAMB BRACKETS

ATTACHED W/ (1) 1/4"~20 x 5/8"
TRACK SPLICE BOLT & NUT

TOP FIXTURE REINFORCEMENT
ILLUSTRATION

o {1i b
G

ISOMETRIC VIEW

NOTES:

1. ZINC COATING

2. MATERIAL YIELD STRENGTH: 35-49 KSL

3. MATERIAL HARDNESS: 50—60 ROCKWELL B.

4. 1.25" X 1.25" X 1" X 14 GA PUNCHED ANGLE
MAY BE USED

INTERIOR OF GARAGE

MAX. WIDTH 90" -

SEE (TABLE 1> FOR
JAMB BRACKET SPACING

oo
I: >.—<—

TRACK CONFIGURATION FOR 66" UP TO 14’ TALL DOORS

SEE TABLE 1 ON PAGE 3 FOR ADDITIONAL DOOR HEIGHTS
AND THEIR TRACK SPACING REQUIREMENTS.

pesieN Loans[ [ T T T T T T T T 1]

+244.8 LBS/FT
—-279.0 LBS/FT SEE NOTE 2

SPECIFICATIONS AND NOTES

1. ALL THE LOAD FROM THE DOOR IS TRANSFERRED TO THE VERTICAL TRACK,
FROM THE TRACK THE LOAD IS TRANSFERRED TO THE VERTICAL JAMBS.
THE HORIZONTAL JAMB OR HEADER RECEIVES NO PORTION OF THE LOAD
TRANSFERRED FROM THE DOOR. '

2. EACH VERTICAL JAMBS RECEIVES MAXIMUM DESIGN LOADS OF:
+244.8 LBS/FT & —279.0 LBS/FT

3. DOOR AND HARDWARE WILL BE DESIGNED, MANUFACTURED

AND INSTALLED WITH STANDARDS AS SET FORTH BY DASMA.

4. DOOR SECTIONS SHALL BE 24 GA. MIN. EXTERIOR SKIN

ROLLED FORMED, W/ BAKED ON POLYESTER FINISH

5. SUPPORTING STRUCTURAL ELEMENTS SHALL BE DESIGNED

BY A REGISTRED PROFESSIONAL ENGINEER FOR WIND LOADS

INDICATED ON THIS DRAWING IN ADDITION TO OTHER LOADINGS.

6. DOOR IS MANUFACTURED AND TESTED IN ACCORDANCE WITH
THE 2018 IRC/IBC

REV | DESCRIPTION OF REVISIONS DATE  |BY
. =
Mg/g\x SIZE | &3 N g
x 14 gg -~‘ \\\\ S
s} -
83 Ak eOF, I§*4‘\‘ z
w . * =
DESIGN LOADY =% ’ S
+54.4 PSF | EE ’ " 2
~62.0 PSF | #x /£ . ~Q
-E= Yo &
£5 4 d
o & o
TEST LOADS a g % ::-o.-c.covc.-co-- : / 2
s psF | S8 Hgn 85829u:000 1 2
-93.0 PSF | 53 i o*.,{/cENse?_,.-'\‘\Q,: g
3E WOSsionaL eV Z
LARGE MISSILE| E & \ \\N\A\L\._ = :
IMPACT 22 &
RESISTANCE @ TX a

art,

MODEL #500
CLASSICA 1000, 2000

SZE| ORAWNBY  DRC| DATE 1/18/21 DRAWNG NUMBER
B | ciecxen By o | DATE. 1/21/21 IRC-5309-185-21-1
AMARR COMPANY SHEET 2 OF 3

165 _CARRIAGE COURT WINSTON-SALEM, NC, 27105




TABLE 1

DOOR TRACK ATTACHMENT

HEIGHT

ALL TRACK AND ATTACHMENT SPACING +/-2"
ALLOWED WITH SYP OR SPF NO. 2 OR BETTER ONLY

N

AT T R

DOOR HEIGHT
LOW HEADROOM

HIGH LIFT

VERTICAL LIFT
STANDARD LIFT
S —

oL UL

AVAILABLE TRACK CONFIGURATIONS
N.T.S.

TABLE 2
TYPICAL : Center Stile Location
SPLICE Section | Panel Type (Measured from Left
Width 1st 2st
(ft) (in) (in)
6'0 Short 24.6 47.4
7'0 Short 29.1 54.9
7'2 Short 29.9 56.1
7'4 Short 30.6 57.4
7' 6 | Long/Short 45.0
7' 8 | Long/Short 46.0
7' 10| Long/Short 47.0
8' 0 | Long/Short 48.0
8' 2 | Long/Short 49.0
8'4 | Long/Short 50.0
8' 6 | Long/Short 51.0
8' 8 | Long/Short 52.0
8' 10 | Long/Short 53.0
9'0 | Long/Short 54.0

WOOD JAMB ATTACHMENT TO STRUCTURE

TABLE 3

SECTION STRUT SIZE
3 5/8"TRUSS
TOP
3" STRUT
3 5/8"TRUSS
5TH
3" STRUT
ATH 3 5/8"TRUSS
3" STRUT
3 5/8"TRUSS
3RD
3" STRUT
SND 3 5/8"TRUSS
3" STRUT
3 5/8"TRUSS
BOTTOM
3 5/8"TRUSS

Wi RAME_STRUCTUR

2 X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE
5/16" X 3" LAG SCREWS STARTING 6” FROM ENDS THEN 20" O.C. (1 1/2" EMBEDMENT)

X_6 VERTICAL JAMB ATTACHMENT TO 2,000 PS| CONCR
HILTI KWIK BOLT 3/8" X 4" STARTING 6” FROM ENDS THEN 24" O.C. (2 1/2" EMBEDMENT)
HILTI SLEEVE ANCHOR 3/8" X 2-3/4" STARTING 6” FROM ENDS THEN 18" O.C. (1 1/4" EMBEDMENT)
ITW/RAMSET REDHEAD (TRU-BOLT) 3/8” X 4" STARTING 6" FROM ENDS THEN 24" 0.C. (2 1/2" EMBEDMENT)
AMB ATTA
SIMPSON 1/4™ X 3" TITEN SCREWS STARTING 6 FROM ENDS, USE PAIRS OF FASTENERS (3" APART)
AT 8" 0.C. (1 1/2" EMBEDMENT)
HILTI 1/47 X 2-3/4" KWIK~CON Il+ SCREWS STARTING 6" FROM ENDS, USE PAIRS OF FASTENERS (3" APART)
AT 8" 0.C. (1 1/4" EMBEDMENT)
2 X 6 VERTICAL JAMB ATTACHMENT TO GROUTED C-90 BLOCK (2000 PSI GROUT)
HILTI SLEEVE ANCHOR 3/8" X 2—3/4" STARTING 6" FROM ENDS THEN 20" O.C. (1 1/4" EMBEDMENT)
(OR, USE FASTENERS FOR HOLLOW C—80 BLOCK)

*LAGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

1 |

WOOD CONCRETE HOLLOW BLOCK GROUTED BLOCK
- STRUCTURE STRUCTURE STRUCTURE STRUCTURE
4
Z - - -
é
g
T BT « T
T j - Ted - f -1
_—1/3' MIN _'2—3/4' MIN 1-172° MIN 4
2X6 JAMB
TYP. 3’ MIN

REV | DESCRIPTION OF REVISIONS DAE [y
o
MAX SIZE | ~& =
9 x 14 2 8 S A \ N
- (@]
wiE o ALl do g
DESIGN LOADS £% PN Je g
+54.4 PSF | EE  x s % 'l 2
~620 PSF | wx g% ¢ kh 8
<SS SSROUTURUDSUURT: o g
g5 7 THOMASL. SHELMERDINE? g
TEST LOADS | T3 freretreeerassasesessssseaas oo g
+816 Pk | £S f o> 85829 &; z

3 . 0

-93.0 PSF | 53 !‘ [N S‘/CENSQS; &7 g
2E DT =
LARGE MISSILE| £ & WAL E =
IMPACT 23 &
ResisTance | B3 TX &

ary,

MODEL #500

CLASSICA 1000, 2000

SZE| DRAWN BY

DRC| DATE 1/18/21

B | coecken BY

DL | DATE 1/21/21

DRAWING NUMBER

IRC-5309-185-21-

AMARR COMPANY
165 CARRIAGE COURT WINSTON-SALEM, NC. 27105

SHEET 3 OF 3




